151

150
19. @ £ 9 #% @ E O T AR
N & % W kB | o & B LB 2 &
5] = oy 4 : % s G 7 I ol 3
= A | = % | | 3 %

@ # (884) 1,233,519 (850) 1,117,199 (34)68, 309 18, 054 27,494 1,956 39 456 12
F—AFF VT 15,112 4,614 4,454 5, 862 177 5 - - —~
F - A F V7 1, 151 842 202 100 8 1 - - -
7 3 v on 261 86 134 a1 I - - - -
5 s ~ 2, 641 2, 559 72 2 4 4 = = =
# > s 5, 783 3, 605 1, 420 711 42 2 3 = =
x 4 = v 395 289 59 42 4 ! - - .
h H 321, 373 301, 908 8,593 483 9,823 520 4 54
F v o= = 7 28,793 28, 204 120 13 420 35 - 1 =
7 4 vV 5 Vv F 1,934 1, 896 16 2 14 4 2 = &
7 5 v A 14,242 13, 742 337 €83 83 12 = ~ -
¥ 4 > 24,111 23,279 454 126 225 26 = 1 -
¥y v 89, 982 86,118 86 5 3,203 473 1 99 =
RV F o2 7 A 268 261 3 2 2 - = = -

v ¥ 52, 407 50, 053 941 21 1,305 87 - - -
41 vFExv7 9,945 9, 420 445 6 9 6 - 58 1
74N F VK 1,828 1, 663 108 25 28 4 = S =
4 % v 7 20, 160 19, 320 163 14 591 72 2 = =
i fick (63) 64,130 (29)56, 674 (34) 6,795 5 431 59 - 164 2
<~ v 4 v 7 4,960 4,010 553 223 168 6 = - -
A F v o= 456 167 262 e, 3 - - 2 =
x5 v X 24, 080 23,021 643 29 351 16 = - -
Za— e =5 VF 2, 860 1498 713 1,622 15 2 = —~ =
A 73,527 72,077 298 1 1,011 110 = 30 =
A F R RV 6, 449 6,021 233 4 185 6 - = -
7 4 V) ¥ v 68, 893 60, 384 7,415 145 906 43 - = -
H - 5 v ¥ 3,822 3, 756 59 5 1 3 - _ _
I A 2 1,774 1,674 72 i1 15 2 - = -
A4 v 9, 263 8, 850 84 13 219 32 - - —
AY 2 o~ F 16, 480 16, 102 150 9 191 27 1 = =
= 1 = 2,501 2,321 126 £9 * k & - -
& 71 1,981 1,131 844 4 < N B - _
b v =2 124 114 8 - 1 1 - - -
B77y 2 HF0E 1,412 903 440 17 51 1 - = =
AR (821) 45,772 (821)45, 196 33 . 539 4 = = =
4 F 9= 96, 794 88, 064 5, 380 1,783 e 146 14 3 -
7AYAARE 198, 672 160, 825 25, 430 6,557 60 20 14 43 1
¥ o4 = F F A 318 65 240 13 b - - - -
AT _ATY 4T 7,928 7,874 16 z 15 - = =
* o fit 9,777 8,610 782 35 ng 23 = 1 ~
5 = z 1, 160 1,003 126 10 6 - - -

@) #18% (148=—2) o (&) BKo




